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Solving Natural Logarithms Practice Problems
©R E2_0x1[6k XKxuytPa\ FShoyfEttwVaVrBeW uLjLZC^.j Z lAzl[lz zrzipg_h_tgsi ZrneZseeirvvoeXdC.

Solve each equation.

1)  ln 2x + ln 8 = 1 2)  ln 2 - ln (x + 3) = 4

3)  ln (x + 4) - ln 9 = 5 4)  ln 10 - ln (x - 9) = 4

5)  ln (x + 5) + ln 6 = ln 15 6)  ln (x + 9) - ln 10 = 5

7)  ln 5 - ln (x - 10) = ln 19 8)  ln 4 - ln (x - 7) = 2

9)  ln 9 - ln 3x = 5 10)  ln (x + 9) - ln 3 = 3
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Answers to Solving Natural Logarithms Practice Problems

1)  { e16} 2)  {2 - 3e4

e4 } 3)  {9e5 - 4}
4)  {10 + 9e4

e4 }
5)  {- 5

2} 6)  {10e5 - 9}
7)  {195

19 } 8)  {4 + 7e2

e2 }
9)  { 3

e5 } 10)  {3e3 - 9}


